ANBTS

PROBLEM 1

Multiply.

CHOOSE THE CORRECT ANSWER:

© 3,188
3,040
© 3,140

PROBLEM 3

Ginny is preparing breakfast for her cabin
mates at summer camp. She has 3 baskets
with 8 eggs in each basket. She also has
some eggs that the camp host brought her
this morning. If she has 31 eggs in total for
breakfast, write an equation fo represent this
situation using the number of eggs E brought
to Ginny by the camp host.

;| EQUATION:

Solve this problem
on the next page.

Worksheet video 1l Name

PROBLEM 2

Multiply.

CHOOSE THE CORRECT ANSWER:

® 2,698
2,617
© 2,618

PROBLEM 4

The auditorium at Jeremy's school has 11
rows of 12 seats. During his presentation,
every seat was taken. How many people were
in the audience?

Use the grid below to draw a rectangular array
to find the number of people in the audience.




